je jaarinkomen is: je jaarinkomen is:

€ 10.000,— € 15.000,—

je jaarinkomen is: je jaarinkomen is:

€ 25.000,— € 35.000,—

Totaal: € 150.000
C . Armste 20% - 6,7% van het inkomen
je jaarinkomen is: Armste 40% -> 16,7% van het inkomen
:€ 65 OOO —_— Armste 60% —-> 33,3% van het inkomen
' / Armste 80% —> 56,7% van het inkomen
100% -> 100,0% van het inkomen




je jaarinkomen is:

€ 15.000,—

je jaarinkomen is:

€ 20.000,—

je jaarinkomen is:

€ 25.000,—

je jaarinkomen is:

€ 30.000,—

je jaarinkomen is:

€ 35.000,—

Totaal: € 125.000,—

Armste 20%
Armste 40%
Armste 60%
Armste 80%

100%

9

9
9
9
9

12% van het inkomen
28% van het inkomen
48% van het inkomen
72% van het inkomen
100% van het inkomen




